Practice Problems 2  Accounting and Valuation of Inventory and COGS
1.  Star Track sells satellite tracking systems for receiving television broadcasts from communication satellites in space. On December 31, 2004, the company’s inventory amounted to  $44,000. During the first week in January 2005, Star Track made only one purchase and one sale. 
These transactions were as follows:

Jan 3 .  Sold a tracking system to Mystery Mountain Resort for $20,00 cash.  The system consisted of seven different devices, which had a total cost  to Star Track of $11.200 .

Jan 7  Purchased two Model 400 and four Model 800 satellite dishes from Yamaha Corp. The total cost of this purchase amounted to $10,000; terms 2/10 at  n/30.

Star Track records purchases of merchandise at net cost. The company has full time accounting personnel and uses manual accounting system.

Instructions:

a)  Briefly describe the operating cycle of a merchandise company.

b)  Prepare journal entries to record these transactions, assuming that Star Track uses a perpetual inventory system.
c)  Explain what information in b should be posted to subsidiary ledger accounts.

d) Compute the balance in the inventory control account of January 7.

e)  Prepare journal entries to record the two transactions, assuming that Star Track uses a periodic inventory system.

f)  Compute the Cost of Goods Sold for the first week of January, assuming use of the periodic system. As the amount of ending inventory, use your  answer to Part D.

g) Which type of inventory system do you think Star Trak should use? Explain your reasoning.

h) Determine the gross profit margin on the January 3 sales transaction.
Answer to Questions

a.  The operating cycle of a merchandising company consists of purchasing merchandise, selling the merchandise to customers (often on account), and collecting the sales proceeds from these customers. In the process, the business converts cash into inventory, the inventory into accounts receivable, and accounts receivable into cash.

b) Journal entries assuming use of perpetual inventory system:
Jan 3 
Cash

20,000


   Sales


20,000

To record sales of Pen X.
Jan 3

Cost of Goods Sold
11,200



Inventory


11,200
To record cost of merchandise sold
Jan 7  
Inventory

9,800



Accounts payable
9,800
Purchased merchandise terms 2/10, n30;
Net cost, $9,800($10,000, less 2%).
c) Accounts payable subsidiary ledger
   and accounts receivable subsidiary ledgers
d)  $42,600 ($44,000 beginning balance, less $11,200, plus $9,800)
e)  Journal entries assuming use of periodic inventory system:
Jan 3 
Cash

20,000

   Sales

20,000
To record sales  of Pen X.
Jan 7
Purchases

9,800

   Accounts Payable

9,800
Purchase merchandise terms, 2/10, n30
f) Computation of Cost of Goods Sold
Inventory , Jan 1



$44,000

Add: Purchases
                     9,800
Cost of Goods available for sale       $53,800
Less:  Inventory, Jan 7 (per part d)     42,600
Cost of good sold
        

         $11,200
g) Can use periodic inventory system if sales are in big volumes but infrequent
h)  Gross Profit= Sales Revenue- COGS=


      $20,000-$11,200=$8,800
Gross Profit Margin= Gross profit/Sales Revenue


    = $8,800/$20,000= 44%
2.  Pemberton Products uses a periodic inventory system.  The company records show the beginning inventory of PH4 oil filter on January1, and the purchases of this item during the current year  to be as follows:

	Jan 1
	Beginning Inventory …….. 9 units @$3.00   
	$27.00

	Feb. 23
	Purchase  …………………12 units@$3.50
	42.00

	April 20
	Purchase  ………………….30 units@$3.80
	114.00

	May 4
	Purchase  ………………….40 units@$4.00
	160.00

	Nov. 30
	Purchase  ………………….19 units@$5.00
	95.00

	
	Totals  …………………….. 110 units
	$438.00


A physical inventory count indicates 20 units in inventory, based on each of the following methods of inventory valuation. (Remember to use periodic inventory costing procedures).

a)  Average cost

b)  FIFO
c)  LIFO

WAC= 3.982= 90(3.982)
COGS= 358.39= 20(3.982)
EI= 79.64

FIFO

COGS= 339= 27+42+114+156

EI= 99= 4+95

LIFO

COGS= 372.50= 95+160+114+3.50

EI= 65.50= 38.50+27

